## **Bid Abstract**

JIU AD	3ti act											
074-601-014 - CSAH 34 / CSAH 1 Intersection			ovements	Heselton Construction, LLC		James Bros	s. Const.	JJD Compa	nies	Wencl Construction Inc.		
Item No.	Item	Units	Quantity	Unit Price	<b>Total Price</b>	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	
2021.501	MOBILIZATION	LS	0.77	\$64,500.00	\$49,665.00	\$85,550.75	\$65,874.08	\$80,163.50	\$61,725.90	\$122,682.00	\$94,465.14	
2021.501	MOBILIZATION	LS	0.18	\$64,500.00	\$11,610.00	\$85,550.75	\$15,399.14	\$80,163.50	\$14,429.43	\$122,682.00	\$22,082.76	
2021.501	MOBILIZATION	LS	0.05	\$64,500.00	\$3,225.00	\$85,550.75	\$4,277.54	\$80,163.50	\$4,008.18	\$122,682.00	\$6,134.10	
2102.503	PAVEMENT MARKING REMOVAL	LF	140	\$5.55	\$777.00	\$5.25	\$735.00	\$10.00	\$1,400.00	\$3.00	\$420.00	
2104.502	REMOVE DRAINAGE STRUCTURE	EACH	2	\$460.00	\$920.00	\$750.00	\$1,500.00	\$1,000.00	\$2,000.00	\$500.00	\$1,000.00	
2104.502	REMOVE SIGN TYPE C	EACH	13	\$55.00	\$715.00	\$52.50	\$682.50	\$60.00	\$780.00	\$50.00	\$650.00	
2104.502	REMOVE SIGN TYPE C	EACH	6	\$55.00	\$330.00	\$52.50	\$315.00	\$60.00	\$360.00	\$50.00	\$300.00	
2104.502	REMOVE SIGN TYPE C	EACH	4	\$55.00	\$220.00	\$52.50	\$210.00	\$60.00	\$240.00	\$50.00	\$200.00	
2104.503	SAWING CONCRETE PAVEMENT (FULL DEPTH)	LF	656	\$5.55	\$3,640.80	\$8.00	\$5,248.00	\$6.00	\$3,936.00	\$7.00	\$4,592.00	
2104.503	SAWING BIT PAVEMENT (FULL DEPTH)	LF	330	\$2.50	\$825.00	\$3.00	\$990.00	\$5.00	\$1,650.00	\$5.00	\$1,650.00	
2104.503	SAWING BIT PAVEMENT (FULL DEPTH)	LF	23	\$2.50	\$57.50	\$3.00	\$69.00	\$5.00	\$115.00	\$5.00	\$115.00	
2104.503	REMOVE SEWER PIPE (STORM)	LF	29	\$24.30	\$704.70	\$20.00	\$580.00	\$20.00	\$580.00	\$10.00	\$290.00	
2104.503	REMOVE CURB & GUTTER	LF	752	\$3.30	\$2,481.60	\$7.50	\$5,640.00	\$3.00	\$2,256.00	\$3.00	\$2,256.00	
2104.503	REMOVE CURB & GUTTER	LF	102	\$3.30	\$336.60	\$7.50	\$765.00	\$3.00	\$306.00	\$3.00	\$306.00	
2104.504	REMOVE CONCRETE PAVEMENT	SY	3,067	\$8.60	\$26,376.20	\$8.50	\$26,069.50	\$10.00	\$30,670.00	\$3.00	\$9,201.00	
2104.504	REMOVE BITUMINOUS PAVEMENT	SY	550	\$3.95	\$2,172.50	\$3.00	\$1,650.00	\$8.00	\$4,400.00	\$2.00	\$1,100.00	
2104.504	REMOVE BITUMINOUS PAVEMENT	SY	460	\$3.95	\$1,817.00	\$3.00	\$1,380.00	\$8.00	\$3,680.00	\$2.00	\$920.00	
2104.504	REMOVE BITUMINOUS PAVEMENT	SY	275	\$3.95	\$1,086.25	\$3.00	\$825.00	\$8.00	\$2,200.00	\$2.00	\$550.00	
2104.518	REMOVE BITUMINOUS WALK	SF	1,492	\$1.50	\$2,238.00	\$3.00	\$4,476.00	\$10.00	\$14,920.00	\$1.00	\$1,492.00	

10/10/2010				Olocio Ool	anty riigiiway bepa	itinonit i rojo	ot Bid / tbottaot					
2104.518	REMOVE CONCRETE WALK	SF	260	\$1.90	\$494.00	\$1.50	\$390.00	\$10.00	\$2,600.00	\$2.00	\$520.00	
2106.507	SELECT GRANULAR EMBANKMENT (CV)	CY	271	\$33.00	\$8,943.00	\$22.50	\$6,097.50	\$25.00	\$6,775.00	\$25.00	\$6,775.00	
2106.507	COMMON EMBANKMENT (CV)	CY	178	\$9.80	\$1,744.40	\$12.00	\$2,136.00	\$10.00	\$1,780.00	\$20.00	\$3,560.00	
2106.507	COMMON EMBANKMENT (CV)	CY	20	\$9.80	\$196.00	\$12.00	\$240.00	\$10.00	\$200.00	\$20.00	\$400.00	
2106.507	COMMON EMBANKMENT (CV)	CY	409	\$9.80	\$4,008.20	\$12.00	\$4,908.00	\$10.00	\$4,090.00	\$20.00	\$8,180.00	
2106.507	EXCAVATION - COMMON (P)	CY	527	\$17.50	\$9,222.50	\$15.00	\$7,905.00	\$15.00	\$7,905.00	\$15.00	\$7,905.00	
2106.507	EXCAVATION - SUBGRADE (P)	CY	248	\$21.00	\$5,208.00	\$15.00	\$3,720.00	\$15.00	\$3,720.00	\$10.00	\$2,480.00	
2106.507	EXCAVATION - COMMON (P)	CY	42	\$17.50	\$735.00	\$15.00	\$630.00	\$15.00	\$630.00	\$15.00	\$630.00	
2106.507	EXCAVATION - COMMON (P)	CY	20	\$17.50	\$350.00	\$15.00	\$300.00	\$15.00	\$300.00	\$15.00	\$300.00	
2118.507	AGGREGATE SURFACING (CV) CLASS 1	СҮ	44	\$40.00	\$1,760.00	\$36.50	\$1,606.00	\$50.00	\$2,200.00	\$40.00	\$1,760.00	
2211.509	AGGREGATE BASE CLASS 5	TON	895	\$29.00	\$25,955.00	\$19.00	\$17,005.00	\$20.00	\$17,900.00	\$25.00	\$22,375.00	
2211.509	AGGREGATE BASE CLASS 5	TON	17	\$29.00	\$493.00	\$19.00	\$323.00	\$20.00	\$340.00	\$25.00	\$425.00	
2211.509	AGGREGATE BASE CLASS 5	TON	142	\$29.00	\$4,118.00	\$19.00	\$2,698.00	\$20.00	\$2,840.00	\$25.00	\$3,550.00	
2231.509	BITUMINOUS PATCHING MIXTURE	TON	18	\$131.00	\$2,358.00	\$175.35	\$3,156.30	\$200.00	\$3,600.00	\$167.00	\$3,006.00	
2231.509	BITUMINOUS PATCHING MIXTURE (SPECIAL)	TON	75	\$122.00	\$9,150.00	\$92.40	\$6,930.00	\$100.00	\$7,500.00	\$88.00	\$6,600.00	
2301.504	CONCRETE PAVEMENT 9.0"	SY	1,530	\$79.00	\$120,870.00	\$90.93	\$139,122.90	\$95.00	\$145,350.00	\$120.00	\$183,600.00	
2301.504	CONCRETE PAVEMENT 9.0"	SY	23	\$79.00	\$1,817.00	\$90.93	\$2,091.39	\$95.00	\$2,185.00	\$120.00	\$2,760.00	
2301.602	DRILL & GROUT REINF BAR (EPOXY COATED)	EACH	1,025	\$7.20	\$7,380.00	\$16.80	\$17,220.00	\$20.00	\$20,500.00	\$15.00	\$15,375.00	
2301.604	CONCRETE PAVEMENT 7.0" (SPECIAL)	SY	956	\$106.50	\$101,814.00	\$120.75	\$115,437.00	\$130.00	\$124,280.00	\$110.00	\$105,160.00	
2301.604	CONCRETE PAVEMENT 7.0" (SPECIAL)	SY	72	\$106.50	\$7,668.00	\$120.75	\$8,694.00	\$130.00	\$9,360.00	\$110.00	\$7,920.00	
2301.604	CONCRETE PAVEMENT 7.0" (SPECIAL)	SY	30	\$106.50	\$3,195.00	\$120.75	\$3,622.50	\$130.00	\$3,900.00	\$110.00	\$3,300.00	
2302.602	DOWEL BAR	EACH	1,800	\$13.90	\$25,020.00	\$10.50	\$18,900.00	\$15.00	\$27,000.00	\$12.00	\$21,600.00	
2360.509	TYPE SP 12.5 WEARING COURSE MIX (2;B)	TON	95	\$91.00	\$8,645.00	\$84.00	\$7,980.00	\$95.00	\$9,025.00	\$105.00	\$9,975.00	

						-					
2360.509	TYPE SP 12.5 NON WEAR COURSE MIX (3;B)	TON	14	\$88.50	\$1,239.00	\$90.30	\$1,264.20	\$100.00	\$1,400.00	\$105.00	\$1,470.00
2360.509	TYPE SP 12.5 NON WEAR COURSE MIX (3;B)	TON	137	\$88.50	\$12,124.50	\$90.30	\$12,371.10	\$100.00	\$13,700.00	\$105.00	\$14,385.00
2360.509	TYPE SP 12.5 WEARING COURSE MIX (3;C)	TON	18	\$95.00	\$1,710.00	\$109.20	\$1,965.60	\$125.00	\$2,250.00	\$105.00	\$1,890.00
2360.509	TYPE SP 12.5 WEARING COURSE MIX (3;C)	TON	182	\$95.00	\$17,290.00	\$109.20	\$19,874.40	\$125.00	\$22,750.00	\$105.00	\$19,110.00
2503.503	12" RC PIPE SEWER DES 3006 CL V	LF	76	\$60.00	\$4,560.00	\$60.00	\$4,560.00	\$75.00	\$5,700.00	\$80.00	\$6,080.00
2503.602	CONNECT TO EXISTING STORM SEWER	EACH	1	\$350.00	\$350.00	\$750.00	\$750.00	\$750.00	\$750.00	\$1,000.00	\$1,000.00
2503.602	CONNECT INTO EXISTING DRAINAGE STRUCTURE	EACH	1	\$700.00	\$700.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
2503.603	12" HDPE PIPE SEWER	LIN FT	34	\$42.00	\$1,428.00	\$50.00	\$1,700.00	\$50.00	\$1,700.00	\$50.00	\$1,700.00
2506.502	ADJUST FRAME & RING CASTING	EACH	1	\$210.00	\$210.00	\$650.00	\$650.00	\$500.00	\$500.00	\$300.00	\$300.00
2506.502	CASTING ASSEMBLY	EACH	6	\$630.00	\$3,780.00	\$950.00	\$5,700.00	\$800.00	\$4,800.00	\$600.00	\$3,600.00
2506.503	CONST DRAINAGE STRUCTURE DESIGN H	LF	25	\$317.00	\$7,925.00	\$360.00	\$9,000.00	\$400.00	\$10,000.00	\$500.00	\$12,500.00
2506.602	RECONSTRUCT DRAINAGE STRUCTURE	EACH	1	\$1,100.00	\$1,100.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$3,000.00	\$3,000.00
2521.518	3" BITUMINOUS WALK	SF	1,256	\$3.80	\$4,772.80	\$3.78	\$4,747.68	\$5.00	\$6,280.00	\$4.00	\$5,024.00
2521.518	3" BITUMINOUS WALK	SF	155	\$3.80	\$589.00	\$3.78	\$585.90	\$5.00	\$775.00	\$4.00	\$620.00
2521.518	6" CONCRETE WALK	SF	1,568	\$15.00	\$23,520.00	\$15.50	\$24,304.00	\$18.00	\$28,224.00	\$12.50	\$19,600.00
2531.503	CONCRETE CURB & GUTTER DESIGN D312	LF	142	\$27.85	\$3,954.70	\$24.66	\$3,501.72	\$27.00	\$3,834.00	\$28.00	\$3,976.00
2531.503	CONCRETE CURB & GUTTER DESIGN D312	LF	1,269	\$27.85	\$35,341.65	\$24.66	\$31,293.54	\$27.00	\$34,263.00	\$28.00	\$35,532.00
2531.503	CONCRETE CURB & GUTTER DESIGN D312	LF	178	\$27.85	\$4,957.30	\$24.66	\$4,389.48	\$27.00	\$4,806.00	\$28.00	\$4,984.00
2531.503	CONCRETE CURB & GUTTER	LF	167	\$43.40	\$7,247.80	\$34.65	\$5,786.55	\$40.00	\$6,680.00	\$37.00	\$6,179.00

						-					
	DESIGN R324										
2531.503	CONCRETE CURB & GUTTER DESIGN B624	LF	71	\$26.75	\$1,899.25	\$27.34	\$1,941.14	\$30.00	\$2,130.00	\$28.00	\$1,988.00
2531.503	CONCRETE CURB & GUTTER DESIGN B624	LF	777	\$26.75	\$20,784.75	\$27.34	\$21,243.18	\$30.00	\$23,310.00	\$28.00	\$21,756.00
2531.503	CONCRETE CURB & GUTTER DESIGN B624	LF	103	\$26.75	\$2,755.25	\$27.34	\$2,816.02	\$30.00	\$3,090.00	\$28.00	\$2,884.00
2531.618	TRUNCATED DOMES	SF	64	\$44.40	\$2,841.60	\$84.00	\$5,376.00	\$100.00	\$6,400.00	\$55.00	\$3,520.00
2545.502	LIGHTING UNIT TYPE 9-30	EACH	5	\$2,600.00	\$13,000.00	\$2,458.05	\$12,290.25	\$3,000.00	\$15,000.00	\$2,650.00	\$13,250.00
2545.502	LIGHT FOUNDATION DESIGN E	EACH	5	\$700.00	\$3,500.00	\$656.25	\$3,281.25	\$1,500.00	\$7,500.00	\$900.00	\$4,500.00
2545.502	SERVICE CABINET -TYPE RLF	EACH	1	\$5,100.00	\$5,100.00	\$4,821.60	\$4,821.60	\$7,500.00	\$7,500.00	\$8,500.00	\$8,500.00
2545.502	SERVICE EQUIPMENT	EACH	1	\$2,800.00	\$2,800.00	\$2,681.70	\$2,681.70	\$2,500.00	\$2,500.00	\$1,685.00	\$1,685.00
2545.502	EQUIPMENT PAD B	EACH	1	\$1,275.00	\$1,275.00	\$1,209.60	\$1,209.60	\$1,000.00	\$1,000.00	\$715.00	\$715.00
2545.503	2" NON-METALLIC CONDUIT	LF	600	\$8.50	\$5,100.00	\$8.09	\$4,854.00	\$5.00	\$3,000.00	\$3.75	\$2,250.00
2545.503	UNDERGROUND WIRE 1/C 8 AWG	LF	2,400	\$1.10	\$2,640.00	\$1.05	\$2,520.00	\$2.00	\$4,800.00	\$1.25	\$3,000.00
2563.601	TRAFFIC CONTROL	LS	0.18	\$14,300.00	\$2,574.00	\$13,545.00	\$2,438.10	\$25,000.00	\$4,500.00	\$55,000.00	\$9,900.00
2563.601	TRAFFIC CONTROL	LS	0.05	\$14,300.00	\$715.00	\$13,545.00	\$677.25	\$25,000.00	\$1,250.00	\$55,000.00	\$2,750.00
2563.601	TRAFFIC CONTROL	LS	0.77	\$14,300.00	\$11,011.00	\$13,545.00	\$10,429.65	\$25,000.00	\$19,250.00	\$55,000.00	\$42,350.00
2564.518	SIGN PANELS TYPE C	SF	23	\$68.00	\$1,564.00	\$65.10	\$1,497.30	\$75.00	\$1,725.00	\$55.00	\$1,265.00
2564.518	SIGN PANELS TYPE C	SF	133	\$68.00	\$9,044.00	\$65.10	\$8,658.30	\$75.00	\$9,975.00	\$55.00	\$7,315.00
2564.518	SIGN PANELS TYPE C	SF	9	\$68.00	\$612.00	\$65.10	\$585.90	\$75.00	\$675.00	\$55.00	\$495.00
2573.502	CULVERT END CONTROLS	EACH	1	\$175.00	\$175.00	\$350.00	\$350.00	\$500.00	\$500.00	\$200.00	\$200.00
2573.502	STORM DRAIN INLET PROTECTION	EACH	7	\$200.00	\$1,400.00	\$300.00	\$2,100.00	\$250.00	\$1,750.00	\$100.00	\$700.00
2573.503	SEDIMENT CONTROL LOG TYPE COMPOST	LF	640	\$2.75	\$1,760.00	\$2.63	\$1,683.20	\$4.00	\$2,560.00	\$2.50	\$1,600.00
2574.508	FERTILIZER TYPE 3	LB	87	\$0.45	\$39.15	\$0.42	\$36.54	\$1.00	\$87.00	\$0.40	\$34.80
2574.508	FERTILIZER TYPE 3	LB	77	\$0.45	\$34.65	\$0.42	\$32.34	\$1.00	\$77.00	\$0.40	\$30.80
2574.508	FERTILIZER TYPE 3	LB	5	\$0.45	\$2.25	\$0.42	\$2.10	\$1.00	\$5.00	\$0.40	\$2.00
2575.504	EROSION CONTROL BLANKETS	SY	194	\$3.30	\$640.20	\$3.15	\$611.10	\$5.00	\$970.00	\$3.00	\$582.00
1											

						•						
	CATEGORY 3N											
2575.504	EROSION CONTROL BLANKETS CATEGORY 3N	SY	17	\$3.30	\$56.10	\$3.15	\$53.55	\$5.00	\$85.00	\$3.00	\$51.00	
2575.505	SEEDING	ACRE	0.4	\$6,200.00	\$2,480.00	\$5,880.00	\$2,352.00	\$8,000.00	\$3,200.00	\$5,600.00	\$2,240.00	
2575.505	SEEDING	ACRE	0.1	\$6,200.00	\$620.00	\$5,880.00	\$588.00	\$8,000.00	\$800.00	\$5,600.00	\$560.00	
2575.505	SEEDING	ACRE	0.3	\$6,200.00	\$1,860.00	\$5,880.00	\$1,764.00	\$8,000.00	\$2,400.00	\$5,600.00	\$1,680.00	
2575.508	SEED MIXTURE 25-141	LB	15	\$2.55	\$38.25	\$2.42	\$36.30	\$10.00	\$150.00	\$2.50	\$37.50	
2575.508	SEED MIXTURE 25-141	LB	2	\$2.55	\$5.10	\$2.42	\$4.84	\$10.00	\$20.00	\$2.50	\$5.00	
2575.508	SEED MIXTURE 25-141	LB	16	\$2.55	\$40.80	\$2.42	\$38.72	\$10.00	\$160.00	\$2.50	\$40.00	
2575.508	HYDRAULIC STABILIZED FIBER MATRIX	LB	1,271	\$0.55	\$699.05	\$0.53	\$673.63	\$1.50	\$1,906.50	\$0.50	\$635.50	
2575.508	HYDRAULIC STABILIZED FIBER MATRIX	LB	65	\$0.55	\$35.75	\$0.53	\$34.45	\$1.50	\$97.50	\$0.50	\$32.50	
2575.508	HYDRAULIC STABILIZED FIBER MATRIX	LB	1,357	\$0.55	\$746.35	\$0.53	\$719.21	\$1.50	\$2,035.50	\$0.50	\$678.50	
2581.503	REMOVABLE PREFORM PAVEMENT MARKING TAPE	LF	9,942	\$1.40	\$13,918.80	\$1.31	\$13,024.02	\$1.50	\$14,913.00	\$1.25	\$12,427.50	
2582.503	4" SOLID LINE MULTI COMP GR IN (P)	LF	2,541	\$1.45	\$3,684.45	\$2.78	\$7,063.98	\$2.50	\$6,352.50	\$2.00	\$5,082.00	
2582.503	4" SOLID LINE MULTI COMP GR IN (P)	LF	183	\$1.45	\$265.35	\$2.78	\$508.74	\$2.50	\$457.50	\$2.00	\$366.00	
2582.503	4" DBLE SOLID LINE MULTI COMP GR IN	LF	1,082	\$2.80	\$3,029.60	\$5.57	\$6,026.74	\$5.00	\$5,410.00	\$6.00	\$6,492.00	
2582.503	24" SOLID LINE MULTI COMP GR IN (P)	LF	432	\$15.50	\$6,696.00	\$16.80	\$7,257.60	\$20.00	\$8,640.00	\$15.50	\$6,696.00	
2582.503	4" SOLID LINE MULTI COMP GR IN (P)	LF	946	\$1.45	\$1,371.70	\$2.78	\$2,629.88	\$2.50	\$2,365.00	\$2.00	\$1,892.00	
2582.503	8" DOTTED LINE MULTI COMP GR IN (WR) CONT	LF	115	\$2.20	\$253.00	\$33.60	\$3,864.00	\$50.00	\$5,750.00	\$36.00	\$4,140.00	
2582.503	4" DBLE SOLID LINE MULTI COMP GR IN	LF	276	\$2.80	\$772.80	\$5.57	\$1,537.32	\$5.00	\$1,380.00	\$6.00	\$1,656.00	
2582.503	4" DBLE SOLID LINE MULTI COMP GR IN	LF	596	\$2.80	\$1,668.80	\$5.57	\$3,319.72	\$5.00	\$2,980.00	\$6.00	\$3,576.00	

		Contrac	t Total:		\$732,569.60		\$799,470.19	•	894,430.01	\$	8895,598.10	
	Totals for project 074-601-014				\$732,569.60		\$799,470.19	Ş	894,430.01	\$	8895,598.10	
2582.518	PAVT MSSG PREF THERMO GR IN	SF	15	\$36.60	\$549.00	\$60.11	\$901.65	\$75.00	\$1,125.00	\$48.00	\$720.00	
2582.518	CROSSWALK PREF THERMO GR IN CONT	SF	384	\$24.40	\$9,369.60	\$30.45	\$11,692.80	\$25.00	\$9,600.00	\$19.50	\$7,488.00	
10/10/2019		Steele County Highway Department - Project Bid Abstract										

